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11<2xml version='1 07 encoding="UTF-8"7>
2}<Lh9¢kuptlaim xmlns:xsi="http://www ¥3 org/2001, XM Schema-instance” Xsiischemalocation="http://tokuteikenshin jp/checkups 2007  /XSD/cc08_VOR xsd’
| xmlns="http://tokuteikenshin jp/checkup/20677>
3| <encounter>
4? <serviceEventType code="1" />
5% {/fencountery
6? <subjectPerson>
7 <{performer{rganization>
<id root="1 2 392 200119 6 102" extension="13100020017 />
(/performerOrganization>
“insuranceCard>
<insurerNumber root="1.2 392 200119 & 101" extension="00132002" />
<symbol reot="1 2 392 200119 6 204" extension="L"1 17 />
<number root="1 2 392 200119.6 205~ extensions"117 />
I/ insuranceCar d>
<named> 7 # A F 207 o F/nane>
Caddr>
<postalCode>190-0012¢/postal Code> T T UM EE THT 1 XML BEH#HE ' 1 B¢/ addr>
‘birthlime value="19400421" />
<administrativeGender code="2" />
< /sub jectPer son>»
<cheekupCard>
<id root="1 2 392 200119 6 209" extension="08100000011" />
effectivelime>
‘high value="20090331" />
{/effectivelime>
<chargelypeBasic code= 27>
<amount value='002000" currency="JPY" />
</chargelypeBasicr
<chaygeTypeOther code="1" />
< /eheckupCar d>
{settlement>
(claimType code="3" />
CcommissionType code="1" />
<unitPriceBasic>
<amount value="6500" currency="JPY " />
</unitPriveBasic>
{unitPriceOther>
<amoumt value="0" currency="JPY />
<observation code="ONDT76000000000049" codeSysten="1 2 392 200119 6 1005" />
</unitPriceCther>
<unitPrice0ther>
<amount value="20" currency="JPY" />
<ohservation code="98081000000000049 codeSysten="1 2 382 20011% 6 1005" />
¢/unitPrice0ther>
<unitPricelthex>
<amount value="0" currency="JPY" />
<observation code="SNOS600000000M049" codeSystem="1 2 392, 200119 § 10057 />
</unitPriceOther>
<unitPriceCther>
{amount value="80" currency="JPY" />
<observation code= 9NO91000000000001" codeSysten="1 2 392 200119 6 1005 />
{/unitPriceOther>
<unitPriceOthexr>
<amount value="700" currency="JPY" />
¢observation code="3A015000002327101" codeSystem="1 2 392 200119 6 1005" />
</unitPriceOther>
<unitPriceOther>
<amount value="500" currency="JPY" />
<observation code= 280400000819301027 codeSystem="1 2 382 200119 6 1005" />
¢/unitPrice0ther>
<unitPricelther>
<amount value="0" currency="JPY" />
{ohservation code="2A020000001930101" codeSystem="1 2 392 200119 & 1005" />
<funitPriceOther>
<unitPriceCther>
<amount value="0" currency="JPY" />
<observation code="2A020000001930101 " codeSysten="1 2.39
</unitPriceOther>
<unitPricefther>
<amount value="1700" currency="IPT" />
<observation code="9A110160700000011" codeSystem="1 2 39
<funitPriceOther>
<unitPriceQther>
<amount value="0" currency="JPY" />
¢ohservation code="9N5G6000000000011  codeSystem="1 2 392 200119 § 1005™ />
</unitPriceOther>
<unitPriceOther>
{amount value="0" currency= JPY" />
<observation code="9N561000000000011" codeSystem="1 2 392 200119 6 1005~ />
</unitPrice0ther>
<unitPriceOther>

=

200119 6 10057 />

[}

200119 6 10057 />

[ER®] -1- CLATMS
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82 Campount value="100" currency="JPY" />
83 <observaticn code="GNS11000000000011"
84:  </unitPriceOther>

BS! {mitPriceOther>

86; <amount value= 0" currency="JPY />
87; {ohssrvation code="9NS16000000000011°
88 </unitPriceOther>

89? <unitPricelthetr>

90% <amount value="0' currency="JPY" />
91 <observation code="9N821000000000011"
92 </unitPriceOther>

93, <unitPricedther>

94 <amount value= 0" currency="JPY />
95i <observation code="9NB26000000000011"
96 {funitPriceOther>

97; <unitPricefther>

98| ¢amount value="0" currency="JPY" />
99: <observation code="9N831000000000011"
100! {funitPriceOther >
101" <unitPriceOther>

102 <amount value="0" currency="JPY" />
103! {chservation code="8N836000000000011"
104j </unitPricedther>

1051 <unitPriceOther>
106 <amount value="0" currency="JPY" />

{observation code="9N841000000000011"

108 </unitPriceOther>
109! {unitPriceCther>

1101 Camount value="0" currency="JPY" />
111 <observation code="9N846000008000011"
112 </unitPriceOther>

1131 <unitPricedther>

114 Lamount value="0" currency="JPY" />
115 <observation code="9N851000000000011"
116 </unitPricelther>

1i7 {unitPriceOther>

118 <amount value="0" currency="JPY" />

119 <obssrvation code="9N856000000000011”
120 </unitPricedther>

121 {unitPrice0ther>

122 <amount wvalue="0" currency="JPY" />
123 <observation code="8gNB61000000000011"
124 <funitPricelther>

125 {unitPriceCther>

126 <amount value="0" currency="JPY" />
127 {observation code="9NBEBO0000000D00L
128 </unitPriceOther>

129 <unitPriceQther>

130 <amount value="0" currency="IPY" />
131 <{observation code="9N871000000000911"
132 {/unitPrice0ther>

133 <unitPricelther>

134 <amount value="0" currency="JFY />

135; <observation code="8NBT6000000000011"
136 </unitPricelther>

137 <unitPriceOther>

138 <amount value="0" currency="JPY" />
139 {ohservation code="9N881000000000011"
140 </unitPriceOther>

141 <unitPriceCther>

142 <amount value="0" ecurrency="JPY" />

143 <observation code="9NBSG0G0000000011”
144 <funitPricelther>

145 <unitPriceOther>

146 <amount value="0" currency="JPY" />

147 {observation code="9N8A100000000001L”
148 {funitPriceOther>

1491 <unitPriceOther>

150 <amount value="0" currency="JPY" />
151 <observation code="9NB96000000000011"
152 </unitPriceOther>

153 {unitPriceGther>

154 <amount value="0" currency="JPY" />
155; {observation code="9N501000000000011"
156 {funitPrice0ther>

157 {unitPricelther>

158 <amount value="0" currency="JPT" />
159 {observation code="9N90600000000001L”
150: </unitPrice0ther>

161 <unitPriceOther>

162 <amount value="0" currency= JPY" />

163

(=51

{observation cede="SN911000000000011"

codeSysten="
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—
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—
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-
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200119

200119
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200119

200119

200119

200119

200119

200119,
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200119

200119

200119

200119,

200119
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&
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&

6

6

6

[

6

6

i

6

6
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6

6

8

1005

1005
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>
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164
165
166

167;

168

169:
170

171
172
173
174

175
176

17
178
178
180
181
182
133
184
185
186
187
188
189
190
191

(=63

<{/unitPriceQther>
<unitPriceOther>

<amount value="0" currency="JPY" />

<observation code="9¥916000000000011" codeSysten="
</unitPrice0ther>
<unitPrieeOther>

<amount value='0" currency= JPY" />

<observation coda="3N921000000000011 codeSysten=
</unitPrice0ther >
{unitPriceOther>

<amount value='0" currency='JPY" />

<{observation code="9N926000000000011 codeSystem=
</unitPrice0ther>
<unitPriceOther>

<amount value="0" currency="JPY" />

<pbservation cods="9N931000000000011" codeSystem=
</unitPricelther>
{paymentForBasic>

<amount value="002000" currency="TPY" />
</paymentForBasic>
<paymentForOther>

<amount value="000000" curiency="JPYV" />
¢/paymentforOther>
ZunitAmount value="9680" currency="JPY" />
<paymentAmount value="2000" currency="JPY" />
{claimAmount value="7600" currency="JFY" />

{/settlement”
</checkupClaim?

l

H

—

1

2 392

2 392

2 392

200119 6 10057 />

200119 6 1005° />

2 200119 6 10057 />

200119 & 1008 />

CLAIMS
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1

2 <ClinicalDocument xmlns:xsi="http://wwy %2 org:2001/XM Schema-instance’ x5i schemalocation="urn: hl7-org:v3

28

64
&5
66
87
6!
69’
70,
71
7z
73:
[ES
15
76
77
i3
7%
80
81l

<Pxml version="1 @ encoding="UTF-8"7>

org vd">

Stypeld root="2.16.840 1 113883 1 37 extension="POCD HDOOOO40™ />
<id nullFlavor="NL" />
{code code="10" codeSystem="1.2 392 200119 & 10017 />
<offectivelime value="20080609" />
{confidentialityCode code="N" />
{recordTarget>

<{patientRole>

<id root="1 2 392 200119 & 101" extension="00132002" />
<id root="1 2 392 200119 6 204”7 extension=">1 17 />
<id root="1 2 392 200119.6 205" extension="11" />
<addr>
<postalCode>190-0012< /postal Code> EREMT A AEEHHT 1 XM L ZEES o 1 PR/ addr>
{patient>
name> 7 ¥ o A4 F Va7 A F nane>
¢administrativeGenderCode code="2" codeSystem="1 2 392 200119 6 1104” />
<birthTime value="19400421" />
</patient>
</patientRole>
{/recordTarget>
<author>
<time value="20080609" />
<assignedAutrhor>
<id nullflavor="NI" />
{representedOr ganization?
¢id roet="1.2 392 200119 6 102" extension="1310002001" />
<name>B@IE 2 7 Y = » ¥ <{/name>
<telecom value="tel:0300000002" />
addr>
<postalCode>100-1002</ postal Code> R T MER AT 2 XML EBHE 4 1 B /addr>
</representedlrpanization?
</assignedAuthor>
</author>
{custodian>
<{assignedCustodian>
{representedCustodianOrganization>
<id nullFlaver="NI" />
{/representedCustodiandrganization>
<{/assignedCustodian>
</custodian>
<participant typeCode="HLD">
<functionCode code="1" codeSystem="1 2 392 20011% & 208" />
<time>
<high value="20090331" />
</time>
¢associatedEntity ¢lassCode="TDENT™>
¢id extension="08100000011" root="1 2 392 200119 6 209 100132002" />
<scopinglrganization®
<id root="1 2 392 200119 6 101" extension="00132002" />
</scopinglrganization>
</assoclatedEntity>
</participant>
{documentationdf>
<{setviceEvent>
<code code="010" codeSystem="1.2 392 200119 & 1002" displayName="#5EEZ" />
<effectivelime value="20080417" />
<performer typeCode="PRE">
<assignedEntity>
<id nullFlavoxr="NI" />
{representedOrganization>
<id root="1.2.392.20011% & 102" extension= 13100020017 />
eme>HIE 2 7 ¥ = v # </name>
¢telecom value="tel:0300000002" />
<addr>
¢postalCode>100-1002</postalCode) BUHERF MK KAHT 2 XML EBHE A 1B/ addr>
{/representedOrganization>
</assignedEntity>
<fperformer>
</serviceBvent>
</documentation0f>
{component>
<structuredBody?
{component?
<{section>
<code code="01010" codeSystem="1 2 392 200119 § 10107 />
{text />
{entry>
<observation classCode="0BS" moodCode="EVN™>
<code code="9N001000000006001™ />
¢yalue xsi:type="PQ” value="170 0" unit="cm” />

ETe) o

/xsd/hc08_Y¥08 xsd” xmlns="urn:hli-

DATA
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821 {interpretationCode code="N" />

83: {referenceRange>

84! ‘observationRange classCode="0BS" moodCode="EWN CRT™>
83 <value xsi:type="[VL_PQ">

86 <low value="100" unit="cm” />

87 <high value="20%" unit="cm />

88; /value>

89 </obssrvationRange>

90 ¢/referenceRange>

91; {fohservation>

92: {fentry>

93 <entry>

94 <observation lassCode="0BS" moodCode="EVN™>

95° <gode code="9NBOB0G00000DDN0L” />

96 ¢yalue xsi:type="PQ” value="65 07 unit="kg" />

971 <interpretationtode code="N" />

98 <referenceRange>

99 <observationRange classCode="0BS™ moodCode="EVN CRT">
100 <value xsiitype="IVI_PQ™>

101- <low value="25" wit="kg" />

102 ¢high value="150" unit="kg" />

103 valuer

104 </ohservationRange>

105 {/referenceRange>

106° {/observationr

107 {/entry>

108 {entry>
109 <observation classCode="0BS moodCode="EVN">

110 - (code code="GN0110000000000017 />

1111 ¢value xsittype="PQ” value="22.5" unit="ka/m2" />

112 <interpretationCede code="N />

113 <referenceRange>

114 <ohservationRange classCode="0BS" moodCode="EVN CRT">
115 <value xsi:type="IVL_PQ™>

118 ¢low value="18 5" unit="kg/m2" />

117, <high value="24 9" unit="kg/m2"” />

118 {fvalue>
119 {/ohservationRange>
120 ¢freferenceRange>

121 </observation»

122 <fentry>

123 Lentry>

124 {observation c¢lassCode="0BS  moodCode="EVN">

125 (code code="ONG161601000000017 />

126 ¢yalue xsi:type="PQ” value="86.0" unit="cn” />

127 <interpretationCode code="N" />

128 <methodCode code="SN01610000” codeSystem="1 2 392 200119 6 10077 />
129 {referenceRange>

130 <observationRange classCode="0BS” moodCode="BVN CRI™>
131 <value xsiitype="IVL_PQ">

132 (low value="40" unit="em” />

133 <high value="89 97 unit="cm" />

134 </value>

135 {fobservationRange>

136 {/referenceRange>

137 {/obsexrvation>

138 {/entry»

139 {entry?

140 <observation classCode="0BS" moodCode="EVN">

141 {code code="9N016160200000001" />

142 <value xsi:type="PQ” value="80.0" unit="cm” /7

143 {interpretationCode code="N" />

144 ¢methodCode code="9N01620000  codeSystem="1.2 392 200119 § 106077 />
145 <referenceRange>

146 <observationRange classCode="0B3" moodCode="EVN CRT'>
147 {yalue xsiitype="IVL PG™>

148 <low value="40" unit="em" />

148 <high value="89 9" unit="cn” />

150 </value>

151 </observationRange>

152 {/referenceRange>

153 </observation>

154 <fentryd

1556 {entry>

156 (chservation classCode="0BS" moodCode="EVN">

157 <code code="9NO1E1603000000017 />

158 <value xsi:type="PQ" value="85.0" unit="em” />

159 <interpretationCode code="N" />

180 ¢methodCode code="OND1630000" codeSystem="1.% 392 200119 & 1007" />
161 (referenceRange>

162 <observationRange classCode="0BS" moodCode="EVN CRI">
163 <value xsi:type="IVL_PQ™>

[=53] -2 - DATA
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164
165:

184
1851
186
187
158
189
150
191
192
193
194
195
196
197
198
199
200
201
202

205

216
217
218
219
220
221
222

224

239
240!
241
242
243
244
245

[#=H3]

<low value="40" unit="ecm’ ‘>
<high value="89 97 upit="cm” />
<fvalue>
</observationRange>
/referenceRange>
</observation>
<fentry>
Jentry»
<ohservation classCode="0BS” moodCode="EVN™>
<code code="9NOZ60000000000117 />
¢yalue xsi type="CD” code="2" codeSystem="1.% 392 200119 6 2001 />
</ohservation>
{fentry>
{entryr
<observation classCode="0BS™ moodCode="EVN >
<code code="9NOBL00000000G01L" />
<value xsi:type="CD” code="2" codeSystem> L 2 392 200119 6 20017 />
{/observation>
</entryr
{entry»
<observation classCode="0BS” mosdCode="EVN">
<code code="9NOE60000000000117 />
(value xsitype="CD” code="2" codeSystem="1 2 392 200119 & 20017 />
{/ohservation>
<fenity>
{entryr
{observation classCode="0B5" moodCode="EVN">
{gode code="9AT55000000000001" />
<yalue xsiitype="PQ” value="120" unit-"mm[Hgl™ />
{interpretationCode code="N" />
methodCede code="9AT5300000" codeSystem="1 2 392 200119 6 1007" />
{refersnceRange>
{obssrvationRange classCode="0BS" moodCode="EVN.CRT ">
Cyalue xsitype="IVL PQ">
<low value="60" unit="mmlHg}" />
<high value="13%" unit="mm[Hg]" />
<fvalue>
</observationRange”
</referenceRange>
</observation?
</entey>
{entry>
<ohservation classCode="0BS” moodCode="EVN'>
{code code="9ATE50000000000017 />
¢yalue xsi:type="PQ" value="37" unit="mm[Hgl" />
¢interpretationfode code="N" />
(methodCode code="09ATH300009" codeSystem="1 2 382 200119 6 1007" />
{referenceRange>
{ohservationRange classCode="0BS" moodCode="EVN CRT">
<value xsiitype="IVI_PQ">
Zlow value="30" unit="me{Hg]” />
<high value="89" uait="mm[Hgl" />
</value>
</observationRange>
{/referenceRange>
{/observation>
<fentry>
{entry>
<observation classCode="0BS" moodCode="EVN">
{code code="9N1410000000000117 />
cvalue Xsiitype="CD" code="2" codeSystem="1 2 392 200119 & 2202 />
</observation>
Jentry>
{entry>
Cobservation classCode="CBS" moodCode="E¥N ">
<code code="3F0150000023271017 />
(value xsi:type="PQ” value="45" unit="mg/dl” />
{interpretationCode code="N" />
<methodCode code="3FOL510000" codeSystem="1 2 392 200119 6 1007" />
<{referenceRange>
¢observationRange classCode="0BS™ moodCode="EVN.CRT">
{value xsi!type="IVI_PQ">
<low value="30" unit="mg/dL” />
¢high value="199" unit="mg/dl" />
</value>
</observationRange>
{/referenceRange>
</observation>
</entrys
<entry>
¢ohservation classCode="0BS" moodCode="EVN">
<rode code="3F0T00000023271017 />
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248
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Cyalue xsi:type= PR value='50 unit="mg/dl " />
¢interpretationCode code="N" />

<methodCode code="3FD7010000° codeSystem="1 2 392 200118 6 10077

{referenceRange>
<observationRange classCode="0BS" moodCode= EVN CRI">
<value xsi:type="IVL_PQ">
<low value="35" unit="mg/dL" . >
Chigh value="99" unit="mg/dl" />
</value?
</observationRange>
</referenceRange>
</observation>
<fentry>
{eniry>
{observation classCode="0BS" moodCode="EVN">
Seode code="3F07T000002327101" />
¢value xsiitype="PQ” value="111" unit="ng/dl”" />
(interpretationCode code="N" />

(methodCode code="3F0TTL0000" codeSystem="1 2 392 200119 6 1007

{referenceRange>
¢observationRange classCode="0BS” moodCode="E¥N CRT™>
<value xsi:type="IVL_PQ7>
<low walue="70" unit="mg/dL" />
¢high value="139" unit="mg/dl" />
</value>
¢/observationRange>
<freferenceRange>
{/cbservation>
{fentry>
<{entry>
¢observation ¢lassCode="0BS” moodCode= EVN™>
<eode code="3B035000002327201" />
¢yatue xsittype="PQ" value="7" unit="U0/1" />
<interpretationCode code="N />

<methodCode code="3B03510000  codeSystem="1 2 392 200119 & 10077

<referenceRange>
¢observationRange ¢lassCods="UBS  moodCode="EVN CRT">
<value xsi:type="IV1_PQ">
<low value="4" unit="U/L" />
<high velue="35" unit="U/" />
<fvalue>
</observationRange>
</referenceRange>
¢/chservatian?
{fentry>
{entry>
Cobservation elassCode="0BS” moodCode="EVN">
Ceode code="3B0450000023272017 />
(value xsiTtype="PQ" value="25" unit="U/L" />
{interpretationCode code="N" />

(methodCode code="3B04510000" codeSystem="1 2 392 200119.6 1007"

(referenceRange>
{observationRange classCode="0B5" moodCode="EVN CRT™>
(value xsittype="IVL_PQ">
<low value="4" unit="U/L" />
Shigh value="40" unit="U/1" />
<fvalued
{/cbservationRange>
</referenceRange>
</observation?
{/fentry>
{entry>
Cobservation classCode="0BS  moodCode="EVN">
<code code="3R096000002327101" />
<value xsitype="PQ" value="12" unit="U/L" />
(interpretationCode eode="N" />

¢methodCode code="3B09010000" codeSystem="1 2. 392 200119.6 1007”7

<referenceRange>
<observationRange classCode="CBS" moodCods="EVN CRT">
(value xsitype="TVI_PQ™>
¢low value="4" unit="U/L" />
<high value="80" wnit="U/" />
{/value>
{/observationRange>
</referenceRange>
<fobsesrvation>
{/entry>
{entry>
¢observation classCode="0BS” moodCode="EVN™>
¢code code="3D0100000019261017 />
<value xsiztype="PQ” value="60" unit="mg/dL” />
<interpretatienCode code="N" />
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389
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393
394
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{methodCode code='3D01010000" codeSysten="1 2 392 20011% 6 1007" ;>

<referenceRange>

‘ohservationRange classCode="0BS" moodCode="EVN CRT™>

tvalue xsitype = TVL_PQ™>
2low value="20" unit="mg/dL” />
<high valug="109" mit="mg/dl" />
</value>
</observationRange>
freferenceRange>
<‘phservation?
<lentry?
lentry>
<observation classCode="0BS" moodCode="EVN">
(code code="3D0450000019062027 />
<value xsi:type="PQ” value="4 2" unit="%" />
{interpretationCode code="N" />

¢methodCode code="3D04510000" codeSystem="1 2 392 200119 § 1007" />

<{referenceRange>

<observat ionRange <lassCode= 0BS” moodCode="EVN CRT™>

<value xsittype="TVL_PQ">
<low value="4" unit="%" />
<high value="5 17 unit="%" />
</value>
{/observationRange>
¢/referenceRange>
</observation”
</entry>
{entry>
<observation classCode="08S" moodCode="EVN'>
<code code="14020000000191111" />
<yalua xsiitype="C0" code="2" codeSystem="1
<methedCode code="1402010000" codeSystem="1
{/aobservation>
</entry>
{entry>
<observation classCode= DBS” moodCode="EVN >
<code code="1A0100000001811117 />
¢value xsiitype="C0" code="1" codeSystem="1
{methodCode code="1401010000" codeSystem~"1
<fobservationy
Sentry>
Centry>
<observation classCode="0BS” moodCode="EVN">
(code code="0N5010000000000117 />
¢yalue xsittype="CD" code="3" codeSystem="'1
</observation>
fentry>?
{entryr
(observation classCode="0BS" moodCode= EVN">
(code code="8NS060000000000117 />
¢value xsiitype="CD” code="3" codeSystem="1
</observation>
¢/entry>
{entry>
(observation classCode="0BS” moodCode="EVN'>
<code code="9N511000000000049" />

2

2

2

392
392

352
392

39

o2

392

<yalue xsiztype="STRBFHBHICEE /L L</valued

<authoz>
<time nullFlavor="NI" />
{assignediuthor>
<id nuliFlavor="NI" />
<assignedPerson>
<{name> E AR AE/nane>
{/assignedPerson>
</assignedduthor>
{/author>
{/obgervation>
/entry?
<entryr
(observation classCode="0BS" moodCode="EYN">
<gode cade="9N701000000000011" />

200119.6 21627 />
200119 610077 />

200119 6 21027 />
200119 6 007" />

200119 6 1008" />

200119 6 30017 />

¢value xsiitype="CD” code="2" codeSystem="1.2 392 200119 & 2003" />

¢/observation>
<fentry>
{entry”
<observation classCode="0BS” moodCode="GVN">
<code code="9NTOB000000000011” />

<value xsiitype="CD” code="2" codeSystem="1 2 392 200119 6 2003~ />

< /observation>
</entry>
{entyy>?
<chservation classCode="0BS” moodCode="EWN">

DATA



hI13100020012008060961000000 xm]

410¢
411
412
413
414
415
416
ur;
3
419
420
421
422
423!
42
425"
426
427
498
499
430"
431
1321
433 |
434,
435
436
437
438
4331
449
4|
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471
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Ceode code="9N71L00000000001L" />
<yalue x5iitype="CD" code="2" codeSystem="1 2 392 200119 6 2003° />
¢ /observation>
Clentryr
<enkry?
<observation classCode="0BS" moodCode="EVN ">
Ccade code="9N7160000000000117 />
‘yalue xsi:type= C0" code="1" codeSystem="1 2 392 200119.6 2003° >
</abservation>
</entry>
<{entry’
<observation classCode="OBS moodCode= EVN >
<code code="9NT210000000000117 />
<value xsi:type="CD” code="1" codeSyster='l 2 392 200119 6 2003" />
</shservation>
Jentry>
<{entry»
<observation ¢lassCode="0BS" moodCode="EVN">
<eode code="9NT2660000000001L7 />
¢yalug xsiitype="CD" code="2" codeSystem="1 2 392 200119 & 2003" />
{/observation>
<fentryr
Lentry>
<ohservation classCode="0BS moodCode="EVN >
<code code="ON7310000800000117 />
¢value xsi: type="CD" code="1" codeSystem="1 2 392 200118 6 2003” />
</cbservation>
{fentry?
<entry>
<observation classCode="0BS" moodCode="EVN">
<code code="9N736000000000011" />
¢value xsiitype="CD" code="2" codeSystem="1 2 392 200119 6 2003" />
</observation’
fentry>
{entry>
{observation classCode="0BS” moodCode=EVN'>
<code nullFlavor="NA" />
<entryRelationship typeCode="COMP >
Cobservation ¢lassCode="0BS" moodCode="EVN">
{eode code="230408000019301027 />
<value xsirtype="PQ” value="45.5" unit="%" />
<interpretationCode code="N" />
<referenceRange>
{obsexvationRange classCode="0BS" moodCode="EVN CRI">
<value xsi:type="IVL_PQ">
<low value="355" unit="%" />
<high value="48 97 unit="%" />
valued
{/observationRange>
{/referenceRange”
</observation?
<{/entryRelationship>
<entryRelationship typeCode="COMP>
{observation classCode="0BS" moodCade="EVN >
<code code="2A0300000019301017 />
<yalue zsi:type="PQ" value="14.6" unit="g/di" />
<interpretationCode code="N" />
<referenceRange>
{observationRange c¢lassCode="OBS” moodCode="EVN.CRI">
<value xsiitype="IVI_PQ™>
<low value="12.1" unit="g/dL" />
<high value="15 §" unit="g/dl” />
</value>
</obzervationRange>
{/referenceRange>
</observation>
{/entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS” moodCode="EYN >
{code code="24020000081930101" />
¢value xsiitype="PQ" value="390" unit="10%4/mad" />
¢interpretationCode code="N" />
<referenceRange>
<observationRange classCode="UBS” moodCede="EVN CRT >
<value xsi!type="IVI_PQ™>
<low value="360" unit="10+4/mm3" />
<high value="519" unit="10%4/m3” />
</value>
¢/observationfange?
{/referenceRange>
</observation>
fentryRelationship>
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“/observations
entryd
lentryr
<observation classCode="OBS" moodCods="EVN">
{code nullFlavor="NA" />
‘entryRe lationship typeCode="COMP >
‘observation classCode="0BS” moodCode="EVN >
tcode code="9A110160700000011" />

<value xsi type="CD" cods="2" codeSystem="1 2 392 200119 6.2002" />

</obseriation?
/entryRelationship>
{/observation>
{/entry>
<fsection>
</eomponent>
{component>
<{section?
<code code="019%0" codeSystem=1 2 392 200119 6 10107 />
{rext /2
{antry>
{observation classCode="0BS” moodCode="EVN >
{eode code="BNDTE0000000000487 />
<value xsi:itype="ST>EEL /value>
</ohservation>
<fentry>
<entry»
<chsexvation classCode="0BS" moodCode="EVN">
<code code="9N0816000000000497 />
tyalte xsiitype="ST >R E 7L (/value>
</observat lon»
</entry>
{entryr
<observation classCode="0BS" moodCode="EVN >
<code code="9ND86000000000049” /¥
<value xsi:type="ST">BE 7 L</value>
</obsexrvation>
</entry>
<entry>
{observation classCode="0BS" moodCode="EVN™>
<cods code="5N0910000000000017 />
<yalue xsi:type="PQ" value="4" unit="{times}” />
<{/observation>
<Sentry>
{entry>
<observation classCode="0BS” moodCode="EYN >
<code code="3AD15000002327101” />
¢yalve xsiitype="PQ” value="4 8" unit="g/dl" />
<interpretationCode code="N" />
<methodCode coda="3A01510000" codeSystem="1 2 382 200119.6 10077 />
¢referencelange>
{sbservationRange classCode="OBS  meodCode="EVN CRT">
<value xsi:type="IVL_PQ™>
<low value="4" vnit="g/dL" />
<high value="4 9" unit="g/dL" />
{/value>
</observationRange>
</referenceRange>
</observation>
<fentry>
{entry>
‘ohservation classCode="0BS" moodCode="EYN™>
Ccode code="9N8110000000000117 />
¢yalee xsiitype="CP" code="1" codeSystem="1.2 39
</observation>
</entry?
{entry>
Zobservation classCode="OBS" moodCodes EVN™>
{code code="9NE160000000000117 />
¢value xsiitype="CD” code="0" codeSystem="1 2 392.200119 6 2008" />
{/observation>
{fentry>
{entry>
<observation ¢lassCode="0BS” moodCode="E¥YN">
<code code="9N821000000000011" />
¢yalue xsiitype="CB” code="0" codeSystem="1 2 39
</observation>
<fentry?
{entry>
<observation classCode="0BS™ moodCode="EVN">
<code code="9N8Z60000000000117 />
{yalue xsi:itype="CD" code="1" codeSystem="1.2 392 200119 6§ 2008" />
{/observation>

]

200119 6.20087 />

~

200119 6 20087 />
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{entry?
lentry>
<observation ¢lassCode="0BS' moodCode="EVN™>
<code code="9N310000000000117 />
<yalue xst:type="CD" code="0" codeSystem="1 2
fobservation>
</entry>
{entryz
<ohservation classCode="0BS" moodCode="EVN">
<code code="AN83600000000001L" 7>
<value xsiitype="CD" code="1" codeSystem="1 2
< /ohservation’
</entry>
{entry>
<observation classCode= 0BS5S moodCode="EVN™>
<code code="9N841000000000011" />
<value xsitype="CD" code="0" codeSystem="1 2
</observation>
<fentry>
{entry>
(observation classCode="0BS" moodCode="EVN">
<code code="9H846600000000011" />
<value xsi:type="CD" code="1" codeSystem="1 2
{/observation>
</entry>
dentry>
{observation classCode="0BS  moodCode="EVN">
<code code="9N8510000000000117 />
(value xsiitype="CD" code="1" codeSystem="1 2
</observation>
</entry>
<gntry>
<observation classCode="0BS" moodCode="EVN">
<code code="9N8S6000000000011" />
<value xsi:type="CD" code="0" codeSystem="1 2
{/observation>
</entry>
{entxy?
<ohservation classCode="0BS moodCode="EVN">
<cede code="9NBGLO0000000061L7 />
Cyalue xsi'type="CD" code="0" codeSystem="1 2
</observation>
<fentry>
{entry>
<phservation ¢lassCode="0BS  moodCode="EVN">
{code code="9NBEEOR00D00GOO01" />

<value xsiitype="PQ" value="22 5" unit="kg/m2"”

</observation>
</entry>
Lentry>
<observation classCode="0BS~ moodCode="EVN™>
{code code="ON8T1000000000011" />

<yalue xzsi:type="CD" code="1" codeSystem="1 2

</observation>
{fentry>
{entry>
<chservation classCode="0BS" moodCode="EVN™>
{code code="9NSTE000000000011° />
¢value xsiftype="CB" coda="0" codeSystem="1 2
{/observation>
</entryr
{entry>
<observation classCode="0BS  moodCode="EVN™>
<code code="9N8810000000000117 />
{value xsi:type="CD” code="0" codeSystem="1 2
{/observationr
<fentry>
<entry?
{observation classCode="0BS” moodCode="EVN">
<code code="9NBBG000000000G1IL” />
<value xsi:type="{D" code="0" codeSyster="1 2
</observation>
</entry>
entry»
<observation classCods="CBS” moodCode="EVN">
<code code="8NES1000000000011" />
<value xsi:type="CD” code="1" codeSystem="1 2
{/observation>
<fentry>
{entry>
{observation ¢lassCode="0BS" mocdCode="EVN">
{eode code="UNSI60000000000IL” />
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20087 />
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20087 />

20097 />
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2009 />
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<value xsi:type="CD" code="1" codeSystem= 1 2 392 200119 620097 />
</observation>
CPenTLY?
Tentry’
¢{observation classCode="OBS” moodCode="EVN'>
Ccode code="9NS010000000000117 />
¢value xsiitype="CD" code="0" codeSystem="1 2 392 200119 § 2008" />
“/ohservation?
Cientry>
lentry»
{ohservation classCode="OBS" moodCode="EVN™>
‘code code="9NIOS0000000000117 />
Cvalue xsiitype="CD" code="1" codeSystem="1 2 392 200119 6 2009” />
</observation’
{fentry>
<entryr
‘phservation classCode="0BS" moodCode=EVN">
¢code code="9N$110000000000117 />
: <value xsiitype="CH” code="0" codeSyster="1 2 392 200119 6 2009" />
<{/observation
{fentryr
lentry?
(ohservation classCode="0BS" moodCode="EVN™>
<code code="GNO160000000000117 />
¢value xsi:type="CD” code="0" codeSystem="1 2 392 200119 6 2009" />
</observation>
irentry?
<entry>
{observation classCode="0BS" moodCode="EVN">
‘code code="9N921000000000011" />
¢value xsiitype="CD” code="1" codeSystem="1 2 392 200119 & 2009” />
</observation”
“lentry>
{entry>
¢ohservation classCode="UBS" moodCode="EVN">
(code eode="9N926000000000011" />
¢value xsiitype="CD” code="0" codeSystem="1 2.392 200119 6 2009” />
{/observation>
{fentry>
{entryr
<pbservation classCode="0BS” moodCode="EVN™>
{code code= 9NG310000000000117 />
¢yalue xsi'type="CD” code="1" codeSystem="1 2.392 200119 6 2009" />
</observation?
<fentry>
<entry»
{observation classCode="UBS  moodCode="EVN">
<code nullFlavor="NA" />
¢entryRelationship typeCode="COMP">
(observation classCode="0BS” moodCode="EVK">»
<code code="9N5560000000000117 />
¢yalue xsiltype="CD” code="3" codeSystem="1 2 392 200119 6.2501" />
<{/ohservation>
</entryRelationship>
{entryRelationship typeCode= COMP”>
<obsexvation classCode="0BS" moodCode="EVN">
<code code="9NG610000000000117 />
<value xsiitype="CD" code="2" codeSystem="1 2 392 200119 6 25027 />
] </observation>
¢/entryRelationship?
<fobservation>
{/entry»
</section
</ compenent>
</structuredBody>
{/component>
</ClinicalDocument >
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1 <?sml version="1 ¢ encoding="UTF-8"2

2 <checkupClaim sminsixsi="http

© xmlas="http: ‘tokuteikenshin jp/checkup/20077>
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{encounter>
(servicsEventType code="1" />
</encounter>
{sub jectPer son>
<performerOrganization>
<id root="1 2 392 200119 & 1027 extension= 1310001001° />
{/performerdrganizarion>
insuranceCard>
<insurerNumber root="1. 2 392 200119 6 101" extension= 001310017 />
<symbol roct="1 2 392 200119 6 204" extension="t 11 />
<numbet roor="1 2 392 200119 & 2057 extension= 11" />
</insuranceCard>
<name> 7 F v A F P2 7 A F name?
{addr>
<postalCude>100-1001¢ ‘posralCode> WA TUMER 58T | XML BRHE A 1 #</addr>
(birthTime value="194004217 />
<administrativeGender code="1" />
</subjectPerson>
<checkupCard>
<id root="1 2 392 200119 6 209" extensicn="08100000011" />
{effectivelime>
¢high value="20090331" />
feffectivelime>
<chargelypeBasic code="2">
<amount value='002000" currency="TPY" />
</chargelypeBasic>
<chargelypeDetail code="1" />
<chargelypeliher code="17 /%
</checkupCar d>
<{setilement?
<claimType code="4" />
<commissionType code="1" />
{unitPriceBasic>
<amount value="8500" currency="JPY" />
</unitPriceBasic>
<unitPricebetail?
Camount value="500" curreney="JPY" />
{observation code="1" />
</unitPriceDetail>
<unitPriceDetail>
<amount value="1700" currency="1PY" />
<observation code="2" />
<funitPriceDetail>
<unitPrice0ther>
<amount value="0" currency="JPY" />
<observation code="9NOT6000000000049" codeSystem="1 2 392 200115 6 1005~ />
</unitPriceCther>
<unitPriceOther>
<amount value="20" currency="JPY" />
{observaticn code="8N081000000000049" codeSystem="1 2 392 200119 & 19057 />
</unitPricelther>
<unitPriceOther>
<amount value="0" currency="JPY" />
Cobservation code="9NOSBD0000C0N004S” codeSystem="1 2 392 200119 6 1005”7 />
</unitPriceOther>
<uni tPriceOther>
<amount value="80" currency="JPY" />
{observation code="9N091000000000001” codeSysten="1 2.39
</unitPrice0ther>
<unitPriceOther>
<amount value="700" currency= JPY” />
¢observation code="3A0150000023271017 codeSystem="1 2 392 200119 & L005" />
</unitPrice0ther>
{unitPricelther>
<amount value="0" currency="JPY" />
<ohservation code="9N556000000000011" codeSystem="1 2 392 200119 6 10057 />
<funitPricelther>
{unitPriceOther>
<amount value="0" currency="JPY" />
Cobservation code="9N561000000000011" codeSystem="1 2 392 200119 6 1005 />
</unitPriceCther>
<unitPriceOther>
<amount valug="100" currency="JPY" />
Cobservation code="9N811000000000011" codeSystem="1 2 392 200119 & 1005” />
<funitPrice0ther>
<unitPriceCther>
<amount value="0" currency="JPY" />
(observation code="9NS16000000000011 " codeSystem='1 2 29
</unitPricelthex>

200119 6 10058~ />

03

200112 6 1005 />

[

[EHIE] -1-

D fwww w3 org/2001/XM Schema- instance” gsischemalocation="http:/‘tokuteikenshin jp/checkup/2007

/XSD/cc08_V0B xsd”
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82
83
84
35
86
87
88!
89
90
91
a2
93:
94
95
96!
a7:
98
39

100

101

102:

103

104

105

106

107:

108

109

110

111

112!

113:

114!

15

116

117

118!

119

120

121

122

123

124

1285

126

127

128

129

130

131

132

133

134

135

136

137

138

139

140

141

142

143

144

145

146

147

1481

149

150

151

162:

153

154

155

156

167

158

159

160!

161:

16

163!

{unitPricedther?
Camount value='§ curvency= JPYT 53
<observation code= ONS21000000000011"
</unitPrice0ther>
<unitPriceOther>
<amount value= 0 currency=" JPY" ;>
{ohservation code="9NSZEOO0N000000LL"
</unitPrice0ther >
{unitPyicelther>
Camount value="0" cureency= JBY" />
{observation code="9N8310000000000117
ZfunitPriceOther>
<unitPriceOthec>
<amount value="0F currency="JPY" />
<observation code="9NB36000000000011"
<funitPriceQther>
<unitPriceOther>
<amount value="0" currency="JPY" />
<ohservation code= 9N841000000000G117
</unitPrice0thax>
<unitPricedther?
Camount value="0" eurrency="JPY ;>
Zobservation code="9NS8460000000800117
</unitPriceQther>
<unitPriceOther >
<amount value="0" curreacy="JPY />
{observation code="9N851000000000011"
<funitPricelther>
{unitPriceOther>
{amount value="0" currency= JPY" />
(ohservation code="ONS36000000000011"
</unitPriceOther>
<unitPriceOther>
Camount value= 0" currency="JPY" />
<observation code="9NS810000000000117
</unitPrice0ther>
{unitPriceOther>
<amount value="0" currency="JPY" />
<observation code="9N8660000000000017
{/unitPriceOther >
<unitPriceCther>
<amount value="0" currency="JPY />
<observation code="GNET1000000000011"
</unitPriceCther>
<unitPricelther>
Camount value="0" currency="JFY" />
{observation code="9N8TE000000000011"
<funitPriceOther>
{unitPriceQther>
<amount velue="0" currency="JPY" />
<ohservation code="9N881000000000011"
</unitPriceOther>
<unitPriceOther>
<amount value="0" ¢urrency="JPY" />
¢observation code="9NSE6000000000011"
</unitPricelther>
<unitPriceOther>
Camount value="0" currency="JPY" />
<observation code="9%891000000000011"
{/unitPrigeOther>
{unitPriceOther>
<amount value="0" currency="JPY" />
<observation code="0N89G000000000011"
</unitPriceCther>
<unitPricelther>
<amount value="0" currency="JPY />
{observation code="9N901000000000011"
{/un1tPriceOther>
<unitPriceQther>
<amount value="0" ecurrency="JPY" />
{observation code="9NS06000000000011"
</unitPriceOther>
<unitPriceOther>
<amount value="0" currency="JPY" />
{observation cods="9Ng11000000000011"
¢/unitPriceOther >
<unitPriceOther>
<amount value="0" currency="JPY />
{observation code="9NZ16000000000011"
</unitPriceOther>
<ynitPriceOther>
<amount value="0" currency="JPY" />

(#H5]

vodeSysten="

codeSystem="

codeSystem="

codeSysten="

codeSystem="

codeSystem="

codeSystem=

codeSystem="

codeSystem="

codeSystem="

codeSysten=

codeSystem="

codeSysten="

codeSystem="

codeSystem=’

codeSystem="

codeSystea

codeSystem="

codeSystem="

codeSystem="

[}

L

iy

1

1

1

L

1

1

i

1

1

1

1

—

—

3%}

[

2

2

2

2

2.

2

%]

392

392

392

392

392

392

39

()

382

392

392

392

392

382

392

392

=]

39

200119

200119

200119

2 200119.

200118

200119

200119

200119

200119

200118

200119

200119

200119

200119

200119

200119

200119

200119

200119

200119

i

6

6

[

6

&

6

0

5

4

4

6

8

G

8

6

6

[

6

1005" />

wes" />

1005~ >

10057 />

10057 />

10057 />

005" />

005" />

19057 />

1005° />

1005" />

005" />

1005° />

1905" />

1005 />

1005 />

005" />

10057 />

10057 />

1005° />
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164
165
166
167
168
169
170
171
172}
173
174!
175
1761
177!
178!
179:
180!
181
182:
183
184
185
186

<observation code="9N921000000000011
</unitPriceOther?
{unitPriceOther>
<amount value="0" currency= JPY" />
<observation code="9NSZ60000000000117
{funitPriceCthers
ZunitPricelcher>
<amount value="0" currency= JPY />
Cobservation code="9N931000000000011"
</unitPi iceQihers
<paymentforBasic>
Camount value="002000" currency="JPY"
</paymentForBasic>
{paymentForDetail>
<amount value="000000" currency="TPY"~
<{/paymentForDetail>
<paymentForQOther>
<amount value="000000" currency="JPY"
</paymentForOther>
{unitAmount value="9600" eurrency=" JPY"

codeSystem="1 2 392 200119 & 100587 />

codeSystem="1 2 292 200118 6 106057 />

codeSystem="1 2.392 200112 6 1005~ />

/>

/>

/>

i

<paymentimount value="2000" currency="JPY" />

<claimAmount value="7600" currency="JPY"
</settlement>

187 |¢/checkupClaimy

[#H@]

Sy

CLATMS



Y7 XML (DATA)
&)




hi310001001200806093 1000000 xml

“2mi version='l 07 encoding="UTF 87>

‘ClinicalDocument xmlns xsi="http!/ 'www w3 orgi2001/XM Schema-instance’ xsi schemalocation="urn hl7-org:vd  ‘xsd/hc08_V08 xsd” xmlns="urn hl7-
orgivi’>

3 <typeld rooe="2.16.840 1 113883 1 3~ extension="POCD_HDOOOGLO" >
4 <id nul}Flavor="NI" />
)

)

T

R

‘code code="10" codeSystem='1.2 392 200119.6 1001”7 ,>
teffectivelime value="20080609" />

‘confidentialityCode code="N" />

8 <recordTargetr

9 <{patientRole>

10 <id root="1 2 392 200119 & 101" sxtension="00131001" />

1 <id root="1.2 392 ZUOL19 & 2047 extension="t 117 />

12 2id root="1 2 392 200119 6 205" extension="1 175

13! <addy>

14 <postalCode>|00-1001</postalCode> HATHF X B EE AT 1 XM E2HIE 0 115/ addr>
15 {patient>

16 <name> 7 H A F 2= 7 1 Fd/name>

17; (administrativeGenderCode code="1" codeSystem="1 2 392 200119 & 1104 />
181 <birthlime value= 194004217 />

19? {/patient>

20 {/patientBole>
21 </recordlarget>

22 <author>

230 <time value="20080809" />

24, {assignedAuthor>

25 <id nullFlaver="NI" ¢>

26 {representedlrganization>

27, <id root="1 2 392 200119 & 102" extension="1310001001" />
28: <name>BE 1 7 U = » 7 </name?

291 <telecom value="tel:0300000001" />

30 <addr>

31 ¢postalCode>100-1001</postal Code B AUER T IR M EE AT 1 XML BB L 1 B</addr>
32 </representedOrganization>

331 ¢/assignedduthor>

34! </author>

35" <custodian>

36 <assignedCustodian>

371 <yepresentedCustodiantrganization?

3z <id nullFlavor="N1" />

39 </vepresentedCustodianCrganization>
40° </assignedCustodian>

41 </custodian?

42! <participant typeCode="HLD">

43 <functionGode code="1" codeSystem="1 2 392 200119 & 208" />
44 {time>

45: <high value="20090331" />

46! <ftimey

A7 {associatedEntity classCode="IDENT">

48 <id extension="08100000011" root="1 2.392 200119.8 209. 100131001 />
49 {scopinglt ganization>

50 <id reot="1 2 392 20011% 6 101" extension="00131001" />
51 </scopinglrganization®

52 </associatedEntity>

53| <(fparticipant>

5¢;  <documentationOf>

55; {servicelvent>

55 <oode code="010" codeSystem="1.2 392 200119 6 1002 displayMeme="#FEH#E" />
57! CeffectiveTime value="20080417" />

58 <performer typeCode="PRF™>

59 <{assignedEntity>

60 <id nullFlaver="NI" />

51 {represented0rganization>

62 <id root="1 2.392 200118 6 102" extension="1310001001" />

B3 (name>BFE1 7 Y = 7 </name>

64! <telecom value="tel:0230000000L7 />

65 <addr>

66 ¢postalCode>160-1001</postalCode> HAEHF R BERRSE 1 XMT BZREEAEA 1 &< /addr>
67 </representedOrganization>

68 </assignedEntity>

89 </performer>

70 {/serviceBvent>

71 </decumentationOf>
72 <component>

73 {structuredBody>

74 {gomponent >

75° {gection>

76 Ccode code="01010" codeSyster="1.2. 392 200119.6 10107 />
17 {text />

8 <emtry>

79 <observation classCode="0BS" moodCode="EVN">

80 <code code="8N0010000000000017 />

81 <value xsi:type="PQ" value="200 & wnit="em" />

[ZRE] -1- DATA
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32 ‘interpretation{ode cods= N°

83 {referenceRange?

84 ‘observationRange ¢ lassCode= OBS” moodCode="EVN. CRI >
85 Tyalue xslitype="IVL_PQ7>

86 Zlow walue="100" unit="cm" >

87 chigh value="220" unit="cm”™ />

88: </value’

89’ ‘fobservationRange>

%0 /referencefange>

91 </observation>

9z: Yentryy

93] entry>

94 <observation classCode="0BS " moodCode="EVN">

95 <code code="9N0OBOOOORO0N000” />

96 <value xsi:type="PQ” value="110 0" unit="kg />

9?; <interpretationCode code="N" />

93! <referenceRange’>

4G ¢observationRange classCode="0BS" mocdCode="EVN.CRT™>
100 <value xsi:type="1VL_PQ">

10l <low value="25" unit="kg" />

102 Chigh value="150" unit="kg" />

1031 </value>

104i {/observationRange>
105! </referenceRange>

106: </observation>

107 {fentryr

108 . <entry’
109, ¢observation classCode="0BS” meodCode= EVN™>

1101 <code code="9ND110000000000017 />
1111 <value xsi:type="PQ” value="27.5" unit="kg/m2" />

12 <interpretationCode code="H />

113, <{referenceRange>

114} CobservationRange classCode="0BS ™ moodCode="EVN CRT™>
115 <value xsi:type="I¥l_PQ">
116 <low value="18 5" unit="kg/m2" />
117 ¢high value="24 9" unit="kg/m2” />

118: </value>

119 {/observationRange>
120 {/referenceRangs>
121 /chsarvation>
122 <fentry>
1231 {entry>

124 <observation classCode="0BS" moodCode="EVN">

125 <code codes"9NQ161601000000017 />

126 <value xsi'type="PQ" value="8C. 0" unit="cm" />
127 {interpretationCode code="N" />
128 ZmathodCode code="9N01610000" codeSystem="1 2 392 200119.6 1007" />
129 {referenceRange>
130 ¢observationRange classCode="0BS" moodCode="EVN CRI">
131 {value ¥si:type="IVL_PQ">

132 <low value="4¢" unit="cm” />
133 <high value="84 §" unit="ex” />

134! </value>

135 </observationRange>

136 </referenceRange>
137 </observation>
138 <fentry>

139 {entry>

140 <ohservation classCade="0BS" moodCode="EVN™>
141 <code code="9N0161602000000017 />
142 <value xsi'type="PQ” value="82.0" unit="ecm" />
143 {interpretationCode code="N" />

144 <methodCode code="9N01620000" codeSystem="1 2 392 200119 6 10077 /2
145 <referenceRange>

146 ¢observationRange classCode="0BS" moodCode="EVN CRT >
147 <value xsi:type="IVI_PQ™>

148: ow value="40" unit="cm” />

149: <high value="84 97 unit="en” />

160 <fvaluer

151 </observationRange>
152 </referenceRange>

153: </observation’

154 </entry>

155 {entryr

156 <observation classCode="0BS" moodCode="E¥YN">

157! <code code="9NO16160300000001" />

158" Cyalue xsiztype="PQ” value="83.0" unit="em” />

1591 <interpretationCode code="N" />

180 <nethodCode code="GNO1630000” codeSystem="1 2 392.200118 & 1007" />
181! {referenceRange>

162; ¢observationRange classCode="0BS" moodCode="EVN CRI™>
163 <value xsi:type="IV1_PQ">

[=FE)] -2 - DATA
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184
165
168
167
68,
169
170;
171
172
173
174
175
176
177
178
179:
180
181}
182
183
184
185
185;
187!
188:
189
190 |
191
1921
193
194!
195]
1961
197
198
199
200
201:
202
203
204
205!
206
207
208
209!
210
211
212
213!
214
215
216
217
218
219
220
221
222
223
224
2251
226
227
228
2291
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245

[#FE)]

<low value='10" wnit="em ‘>
“high value—"84 9" unit="en” /7
{Avalue>
</observationRange>
¢sreferenceRange>
/ehservation?
</entry>
<entyy>
<observation classCade="0BS " moodCode="EVN">
<eode code="9NDSE0000000000117 />

cvaltite xsittype= CD” code="2" codeSystem="1 2 392 200119 & 20017 />

{/observation>
{fentryr
{entry>
Cobservation classCode="0BS moodCode="EVN™>
{cade code="9NOBLOOODOOBO0OOLL” />

Cyalue xsiitype="CD" code="2" vodeSystem="1 Z 392 200119 6 2001” />

{/observation>
<fentry>
<entry>
{observation classCode= OBS” moodCode="EVN">
{gode code="9NOBB0D000000001L" />

¢value xsiitype="CD" code="2" codeSystem="1 2 382 200119 6 20017 />

¢/observation’
<fentry>
{entry»
<observation classCode="0BS” meodCode="EVN">
{code code="9AT55000000000001" />
¢value xsi:type="PQ” value="65" unit="mmiHg]” />
<interpretationCode code="N" />

<methodCode code="9ATE300009” codeSystem="1.2 392 200119 & 10077 />

{referenceRange>
<observationRange classCode="0BS” moodCode="EVN CRT™>
<value xsi:type="TVL_PQ">
<{low value="60" unit="mm{Hg]" />
¢high value="138" unit="mn{Hg]" />
</value>
{/abservationRange>
{/referencelange>
</chservation”
</entry>
{entry>
‘observation classCode="0BS” moodCode="EVN">
Zeode code="9ATE50000800000017 />
Cvalue xsiitype="PQ" value="33" unit="mm{Hg]” />
{interpretationCode code="N" />

(methodCode code="9ATE00008" codeSystem="1.2 382 200119 6 10077 />

{referencelange>
SobservationRange classCode="0BS" moodCode="EVN CRT™>
<value xsi:type="IVL_PQ">
{low value="30" unit="mm[Hg]" />
<high value="89" unit="mm[Hgl "~ />
</value>
</observaticnRange>
{/yveferenceRange>
{/observation>
</entry>
{entry”?
<observation classCode="0BS™ moadCode="EVN">
Zeode code="9N1410000600000117 />

(value ¥siZtype="CD" code="1" codeSystem="1 2 392 200119.6 2202”7 />

</ohservation?
{fentry>
{entry>
<observation classCode="0BS” moodCode="EVN >
<code code="3F015000002327101" />
<yalue xsi'type="PQ" value="38" unit="mg/dl” />
<interpretationCode code="N" />

<methodCode code="3F01310000" codeSystem="1 2 392 200119 & 1007" />

<referenceRange>
<observationRange ¢lassCode="0BS" moodCode="EVN CRI™>
<value xsiitype="IVL_PQ">
¢low value="30" unit="mg/dL" />
<high value="199" unit="mg/dl" />
</value>
</observationRange”
{/referenceRange>
</observation>
<fentry?
<entry>
{observation classCode="UBS" moodCode="EVN">
{eode code="3F0700000023271017 />

DATA
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216 ‘yalue xsi:type="PQ" value="48" unit="mg/dl " />
247 <interpretationCode code="N" />
248 (methodCode code="3F0T0I0000° codeSysten= 1 2 392 200118 6 1007 />
248 {referenceRange?
250, <observat ionRange classCode="0B5" moodCode="EVYN (RT">
251 Cvalue xsitype="IVL_PQ™>
25¢: <low value="10)" unit= mg/dLl” />
53: <high value="86" unit="mg/dL” ,>
<fyalue?
</ohservationRange>
</referenceRange”
</observation>
<fentrys
{entry?

‘chservation classCode="0BS" moodCode="EVN">
<code code="3F0770000023271017 />
¢yalue xsi:type="PQ" value="78" unit="mg/dl~ />
<interpretationCode code="N" />
<methodCode code="3F0T710000" codeSystem="1.2 392 200119 & 1007" ,>
<referenceRange >
{chservationRange classCode="0BS” moodCode="EVN CRI >
<value xsi'type="TV1 _PQ">
Clow value="70" unit="mg/dl" />
<high value="139" unit="mg/dL" />
</value>
</observationRange>
</referenceRange>
{/observation?
{fentry>
{entry>
{ohservation classCode="0BS’ moodCode="EVN">
{code code="3B0350000023272017 />
(value xsi:type="PQ" value="5" unit="U/L" />
{interpretationCode code="N" />
<methodCode code="3B03510000” codeSysten="1 2 3§2 200119 6 1007 />
<referenceRange>
¢observationRange classCode="0B5" moodCode="EVN CRT™>

(value xsi:type="IVI_PQ™>
<low value="4" unit="U/L" />
<high value="35" unit="W/L" />

<fvalue>
287 </cbservationfange>
288 </referenceRange>
289 </observation>
290 fentry>
291 Lentryr
292 <ghservation classCode="0BS" moodCode="EVN'>
293 (code code="3B0450000023272017 />
294 <value xsitype="PQ” value="10" unit="U/1" />
285 {interpretationCode code="N" />
296! <methodCode code="38045100007 codeSystem="1.2 392 200119 6.1007" />
297: {referenceRange”
298 <chservationRange classCode="0BS  moodCode="EVN CRT">
299 <yalue xsiitype="IVi_PQ™>
300 Qow value="4" unit="U/L" />
301 <high value="40" unit="U/L" />
302 </value>
303: </observationRange>
304 </referenceRange’
305 </ohservation>
306 fentry>
kitr) {entryr
308 <observation classCode="0BS" mcodCode="EVN">
309 <code code="3B0900600023271017 />
316! <value xsittype="PQ” value="20" unit="U/1" />
311 <interpretationCode code="N" />
312 ¢methodCode code="3B0OD10000" codeSystem="1 2 392 200119 & 1007 />
313 <referenceRange’
314 (observationRange ¢lassCode= OBS™ moodCode="EVN CRI™>
315 <value xsi:type="IV¥1_PQ">
316 <low value="4" unit="Y/L" />
317 <high value="86" unic="U/L" />
318 </value>
319 {/observationRange>
320 </referenceRange>
321 {/observation>
322 </entry>
323 {entry”
3241 <observation classCode="0BS" moodCode="EVN">
325 Zcode code="3D0100000019261017 />
326 <value xsiitype="PQ" value="37" unit="mg/dl" />
327 {interpretationCode code="N" />

[=m3)] -4 - DATA
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328
329+
330:
331
332
333:
334
335
336
337!
3381
339
340"
341;
342
343

344

345

347
348
349
350
351
352
153
354
355
356
357
358!
359
360
361
62|
363

365,
366
367
368 |
369
370
371
372!
373"
374
375:
376
377
378
379
380
381
382
383
384
335
386
387"
388"
289 |
390!
391
392,
393 |
394/
395 |
396
397!
388
399
400
401}
4021
403}
404|
405
406
4071
408!
209

[=®]

‘methodCode codes 30010100007 codeSystem="1 2 392.200119 & 1007 />

referenceRange

(observationRange classCodes"0BS” moodCode="EVN.CRT >

<value xsi'type="IVL_PQ">
<low value="20" unit=mg/dL” />
<high value="109" unit="mg/dl "~ />
«/value>
¢/observationRange>
{/referenceRange?
<fobgervationr
<fentry>
{entryr
<observation classCode="0BS moodCode="EVN">
<code code="3D045000001906202" />
<value xsiitype="PQ" value="4 6" unit="%" />
{interpretationCode code="N" />

(methodCode code="3D04510000" codeSystem="1 2 392 200119 6 100" />

{referenceRange>

<observationRange classCode= OBS” moodCode="EVN CRT >

<yalue xsi:type="IVI_PQ”>
<low value="4" unit="%" />
<high value="5 1" unit="%" />
</value>
¢/ohservationRange>
</referenceRange>
</observation>
{/entryr
{entry>
<observation classCode="0BS" moodCode="EVN">
<cede code="1A02000000019111LL7 />

{yalue xsiitype="C0" code="3" codeSystem="1 2 392 200119 6 2102"
{methodCode code="1A02010000" codeSystem="1 2 392 200119 6 1007

</obsexvation>
{fentry>
{entry>
<ohservation classCode="0BS” moodCode="EVYN'>
<eode code=" LADLDOOROOD19T111" />

<value xsi:type="C0" code="2" codeSysten="1 2 382 200119 & 2102
<methodCode code="1A01010000" codeSystem="1 2 352 200119 & 1007

{/observation>
{fentry>
{entiy”r
{observation classCode="0BS" moodCode="EVN >
<code code="9N50100000000001L" />

<value xsiltype="CD" code="3" codeSystem="1.2 392 200119 & 1008~

</observation>
<fentry>
{entry>
{observation c¢lassCode="0BS” moodCode="EVN™>
<code code="9N5060000000000117 />

<value xsi!type="{D" code="3" codeSystem="1 2 392 200119 6 3001"

</observation?
</entry>
<eptry>
<observation elassCode="0BS  moodCode="E¥N >
{eode code="9N5110000000000497 />
Cvalue xsi:type= ST OEZHERICFHCRE R L (value>
{author >
<time nullFlavor="NI" />
<{assignedAuthor>
<id nullFlavor="NI" />
<assignedPerson>
<name>EHIABR</name>
{/assighedPerson>
</assigneduthor>
</author>
{/observation>
{/entry>
{entryr
{observation classCode="0B5" moodCode="EVN™>
{code code="gN7010000000000117 />

7

/>

1

2

<value xsi:type="ClY" code="2" codeSystem="1 2 382.200119 6 2003~ />

<{/observation>
</entry>
{entry>
{observation ¢lassCode="0BS” moodCode="EVN">
<code code="ONTOG00000000001L" />

<yalue xsi!type="CD" code="2" codeSystem="1 2 392 200119 6 2003" />

<{/observation>
{fentry>
lentry>
<observatien c¢lassCode="0BS" moodCode="EVN™>
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410 <code code="ONT11000000000011" +>

411 <yalue xsiitype="CD" code="2" codeSystem= 1 2Z.392 200119 6 20037 />
112 {/observation>

413 Slentry>

414 {entry?

415 {observation classCode="0BS movdCode="EVN >

416 {code code="9NT160000000000117 />

417 <yalue xsi:type="CD" code="1" codeSystem='1 2 392 200119 6 2003" />
418 {fobservarion>

419 entry>

420 lentry”

421 <obsarvation classCode= OBS" moodCode= EVN >

422 <gode code="9N7210000000000117 7>

423 <value xsi:type="CD” code="2" codeSystem="1 2 392 200119 & 2003" />
424 </observation>

425, <entry»

4261 lentryr

427 Zobservation classCode="0BS" moudCode= EVN™>

428, <code code="9N7260000000000117 />

429: <value xsi:type="CD" code="1" codeSystem= 1 2 392 200119 6 2003" />
430; </observation>

431, {rentry?

432 {entry’>

4331 <observation classCode= 0BS” moodCode="EYN">

434 <code code="9NT31000000000011" />

435! <value xsi'type="CD” code="2" codeSystem="1 2 392 200119 & 2003" />
4355 </observation>

437: entry>

438§ <entry>

4391 <observation ¢lassCode="0BS" moodCode~ EVN™>

4405 {ecode code="9NT3600000000001L7 />

441 <value xsiitype="CD” code="1" vodeSystem="1 2 392 200119 & 2003~ />
442 </observation>

443 </entry>

444 <entry>

445 {observation classCode="0BS" mood(ode="EYN">

446 {code nullFlavor="NA" />

447 <entryRelationship typeCode="CCMP >

448 <observation classCode="0B5" moodCede="EVN ">

445 {code code="2A0400000019301027 />

450 <value xsiitype="PQ" value="40. 7" unit="%" />

451 {interpretationCode code="N" />

452 {referenceRange”

453 ZobservationRange c¢lassCode="0BS” moodCode="EVN CRI >
454 {yalue xsi:type="IVL_PQ™>

455 {low value="38.5" unit="%" />

456 <high value="52 87 unit="%" />

457 </value>

458 </obser vationRange>

459 ¢/referenceRange>

460, </observation>

461 {/entryRelationship>

462 <entryRelationship typeCode="COMP”>

463 {observation classCode="0BS" moodCode="EVN">

464 {code code="240300000019301017 />

465 <value xsi:type="PQ” walue="17.1" unit="g/dl” />

466 <interpretationCode code="N" />

467 <referenceRange>

468 <observationRange classCode:"0BS” moodCode="EVN.CRI™>
465 <yalue xsi!type="IV1_PQ">

479 <low value="13.1" unit="g/dL" />

471 <high velue="17.9" unit="g/dL” />

472 {/value>

473 </observationRange>

474 {/referenceRange>

475 {/chsexvation>

476 </entryRelationship>

477 <entryRelationship typeCode="COMP">

478 <observation classCode="0BS" moodCode="EVN">

479 {code code="2A026000001830101°7 />

480 <value xsittype="PQ" value="421" unit="10%4/mn3" />
481! {interpretationCode cods="N" />

4821 <{referenceRange>

483 <ohservationRange classCode="0BS” moodCode="EYN CRI>
434 <value xsi’type="IVL_PQ">

485 <low value="400" unit="10%d/mm3" />

436 <high value="579" unit="10¢4/mn3" />

487 </value>

488 </observationRange>

489 </referenceRange>

490! {/ovbservarion>

4911 </entrvRelationship>
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452 ZentryRelationship typeCode="RSON">

193 <observation classCode="0BS™ moodCode= EVN >

494 ‘code code- "2AD2016L0019301497 /3

195 <value xsiitype="ST>REEEOBZHFRITL D FER/valued

496 | {/observation>

497" </entryRelationship>

488 </observation

459 {fentyy>

500! {entry>

il {observation classCode="0BS" moodCode= EVN™>

502! {code nullFlavor="NA" />

503! <entryRelationship typeCode="COMP">

504 {observaticn classCode="0BS" moodCode="EYN">

505! <code code="941101607000000117 />

506; <value xsi!type="CD" code="2" codeSysten="1 2 392 200119 & 2002 />
507 ¢/obseyvation>

5081 </entryRelationship?

509 | <entryRelationship typeCode="RSON">

510! <observation classCode="0BS” moodCode="EVN">

511‘ {eode code="9A1101610000000487 />

512 <value xsi:type= ST ERSEBMEDRRERIC L 0 AFHE b Hi </ value>
513 </observation>

514! ¢/entryRelationship>

515: {/observation>

516 <Jentry>

517" </section>

518 </component>

519 {¢omponent >

520" <{section>

521 <gode code="01990" codeSystem="1 2 392 200119 6 10107 />

522, Stext />

523 {entry>»

524 <observation classCode="0B3" moodCode="EVN">

5255 <gode code="9NGTE0000000000497 />

526: <value xsi:type="ST">EE 7L </value>

5271 {/observation>

528! fentry?>

529; {entry>

5301 <observation ciassCode="0BS" moodCode="EVN">

531 <gode code="9NGRI00000000004%7 />

532 <value xsiitype="SI">EE 2L </value>

533 {/observation>

534 {Sentry>

535 {entry>

536 <observation classCode="0BS  moodCode="T¥YN >

537 <{gede code="9N0OBB0000000000487 />

538 {value xsi:type="ST>EHE 7 L </value>

539 </observation>

540 Sentry>

541 {entryr

542 <observation classCode="0BS" moodCode="EVN">

543 <code code="9ND910000000000017 />

544 <value xsiitype="PQ" value="5" unit="{times} />

5455 </obsexvation>

546 {/entry> :
547! {entry»

548 . <observation classCode="0BS” moodCode="EVN">

549 {gode code="3A0150000023271017 />

550 Cvalue xsi:type="PQ” value="4 3" unit="g/dl” />

551 {interpretationCode code="N" />

552! <{methedCode code="3A01510000" codeSystem="1 2 392 200119.6 1007" /> :
553 <{rsferenceRange” H
554 {observationRange classCode="0BS " moodCods="EVN CRT ">

5051 <value xsi!type="IVL_PQ">

5361 <low value="¢" unit="g/dL” /> H
557, <high velue="4 9" unit="g/dl" /> :
558: ¢/value>

559" </observationRange>

5601 {/referenceRange>

561! </obsexvation>

562 fentry>

563! {entry>

564 | <observation classCode="0B3" moodCode="EVN">

565 {code code="9NB110000000000117 />

366! (valve xsi:type="CD" code="0" codeSystem="1 2 392 200119 6.2008" />
587/ </observaticn>

568/ <fentry

589% {entry>

570‘ {ohservation classCode="0BS" moodCode="EVN">

a7t <code code="9NS160000000000117 />

572 <value xsiztype="CD” code="1" codeSystem="1 2 392 200119 6 2608~ />

573] /observation>
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[HAG®]

LIEnTryYY
Lentiy>
{observation ¢lassCode="0BS" moodCode="E¥N™>
{code code="9NS210000000000117 />
<value xsi:type="CD" code="0" codeSystem="1 2 392
7 observation?
< ENLEYS
‘eptry>
<observation classCode="0BS" moodCode="EVK >
{code code="9N8260000000000117 >
<value xsi:type="CD" code="1" codeSystem="1 2.392
{/observation>
jentyy>
{entry>
{observation ¢lassCode="0BS™ moodCode= EYN™>
<code code="9N831000000000011° />
<value xsi:type="CD” code="0" codeSysten="1 2 392
</obscrvation>
<lentry»
<entry>
<observation classCode="0BS" moodCode="EVN">
{code code="9N836000000000011” />
<yalue xsi:type="CD” code="1" codeSystem="1 2 392
</observation>
{fantry?
Lentry>
<observation classCode="0BS” moodCode="EVN">
{code code="9N841000000000011 />
<value xsi:type="CD” code="0" codeSystem="1.2 39
</observation>
fentry>
Jentry>
<observation classCode="0OBS moodCode="EVN™>
<code code="9NB460000000000117 />
<value xsi:type="CD" code="1" codeSystem="1 2 392
</observation>
fentry>
{entry>
<observation classCode="0BS  moodCode="EVN™>
(code code="9N851000060000011” />
<value xs1tiype="CD” code="0" codeSystem="1 2 382
{/observation>
<Zentry>
{entry>
<observation classCode="0BS" moocdCode="EVN>
<code code="SN8B6000000000011" />
<value xsiitype="CD” code="1" codeSystem="1 2 392
{fobservation>
{/entry>
<entry>
<observation classCode= 0BS” moodCode="EVN >
{code code="9NSE10000000000117 />
<value xsi:type="CD" code="0" codeSystem='1.2 33
</observation>
</entry>
<{entry>
{observation classCode="OBS" moodCode="EVN">
<code code="9N8660000000000017 />
{value xsi:type="PQ" value="27 5" unit="kg/m2" />
{/observation>
‘lentryr
<entry>
<ohservation classCode="0BS” moodlode="EVN™>
{code code="9NBT1000000000011" />
<value xsiitype="CD” code="1" codeSystem="1 Z 392
<{fobservation>
<fentryr
{entry>
{observation classCode="0BS” moodCode="EVN">
{code code="9NSTBE00000000001L™ />
<value xsi:type="CD" code="0" codeSystem="1 2 392
{/observation>
</entry?
<entyyr
<observation classCode="0BS” moodCode="EVN">
Lcode code="GN8B10000000000117 />
<value xsi:type="CL" code="1" codeSystem="1 2 392
7/observation?
</entry>
{entry»
<ohservation classCode="0BS" moodCode="EVN™>
<code code="9N8860000000000117 />

[~

3]

2001196

200119 6

200119 6

2001198 8

200119 &

200119 6

200119 6

200119 &

200119 6

200119 6

200119 6

200119 6

2008" />

20087 />

2008° />

20087 />

20087 />

2008 />

2008" />

20097 />

20097 />

20097 />

2009" />

2009" />
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6586
B57
653
659
660
661
662
663
664
665
665
667
668
669
670
671
672
673
674
673
876!
677
678
679
680:
581
682
6831
684!
685"
6861
687;
688
689
690!
691
692
693
694
695
696
697
698
699

701
702
703
704
705
706
707
708,
7091
710
71
712
713
T4
715
716
i
ng
ng
720
721
722
723
124
725
726
727
728
729
730
731
732
733!

Cvalue xsiitype="{D" code=" codeSystenm='1 2 382 200019 & 20087 >
.iohservation>
ientryr
lEntry>
<ohseyvation classCode="0BS" moodCode=EYN' >
‘code code="ONS91000000000011" />
value xsi:type="CD" code="1" codeSysten="1 2 382 200119 & 2009° />
‘/observation>
Llentrys
entry>
<observation classCode="0BS" moodCode="EVN >
{code code="9NB960000000000117 />
<value xsi:type="CD" code="0" codeSystem="1 2 392.200119 & 2009” />
<fobservation>
<lentry>
Jentry>
<observation classCode="0BS  moodCode="EVN >
‘eode code="ONIO1000000000011L" />
<value xsi:type="CD” code="1" codeSystem="1 2 392 200119 6 2008” />
</observation>
Sentry>
{entry>
Cobservation classCode="0BS" moodCode="EVN >
<code code="9NI06000N00DA00LL" />
<value xsiitype="CD" code="0" codeSystem="1 2 302 200119 8 2009”7 />
</observation>
Clentry>
<entryr
{ohservation classCode="0BS" moodCode="EVN">
<code code="ONO11000000000011™ />
<walue xsi'type="CD" code="1" codeSystem="1 2 392 200119 6 2008 />
{fobservation>
{Jentry>
<entry>
{observation classCode="0BS  moodCode="EYN ">
<code code="9NI160000000000LL”" />
<yalue xsiitype="CD" code="0" codeSystem="1 2 392 200119 6 2008" />
¢/observation>
{fentry’
{entryr
<observation classCode="0BS" moodCode="EVN' >
<code code="9N9210000000000117 />
<value zsiitype="CD" code="1" codeSystem="1 2 392 200119 6 2009" />
</observation’
{entry>
{entry>
<observation classCode= "OBS” moodCode="E¥YN">
{eode code="9N926000000000011" />
<value xsiitype="C0" code="0" codeSystem="1 2 392 200119 6 2000 />
{/observation>
<sentryr
<entry>
<observation classCode="0BS” moodCode="EYN >
<code code="9N931000000000011" />
<value xsiitype="CD" code="1" codeSystem="1 2 392 20011% 6 2009" />
{/observation>
{fentry>
<entry>
{observation classCode="0BS  moodCode="EVN >
<code nullFlavor="NA" />
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN >
Ceode code="9NGE600000000001L7 />
<value xsiitype="CD" code="3" codeSystem="1.2 392 200119 6 2501 />
{/observation?
</entryRelationship>
{entryRelationship typeCode="COMP">
{observation ¢lassCode="0BS” moodCode="EVN >
<gode code="0MN5618000000000117 />
<value xzsi:type="CD" code="2" codeSystem="1 2 392 200119 6 2502" />
</observation>
{/entryRelationship>
{/observation>
</entry>
</section>
</component’
</structuredBody>
</vomponent>

734?</Clinica1Document>
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